Derivadas (pendientes 1°Bach.)

1.y = 5x8-3x°+3x3-2

3. y=3x0 + 2/x + 3
X

5.y =4senx - 3 cOSX

7.y=43+23-x3+4

9.y =cos(3x)

11. y = sen (3x2-2x)
13. y = sen3(2x?)
15. y = 3 sen?(2x-3)
17.y = cos (senx)

DERIVADAS

19. y=3/cos” X
21. y=4/x*-3x
23. y=(2 Jx - 3 |
25. y=3/sen(3x)
27. y:( 3X2 _ 1_X2
29. y=1/sen®x + (x-1)’
X
31 y=—
y 5
4-3x
33 y=X
y 4
(x*-3x)’
35. y=
y 3
2
37. y=—
x -1

39. y:\/E

X
41. y=3/3 x*- senx
43. y=In (x*-3X)
45. y=log, (3x*)
47. y=2*
49, y=3%*"
51. y=3 ¥
53. y=3 tg°x
55. y=x*.Inx
57. y=X4 .esx

2.y = x*+2x3+x-4
4. y:\/§.x3-7r.x+\/§

6. y=2 Jx + 2 +
X

8. y:%.cosx-3\/;

10. y = cos?(x°)
12.y = cos(x?)

14. y = cos*(3x%)

16. y = c0s°(3x?)

18. y = cos?(sen(3x))

20. y=3/cos?(x*)

22. y=3(x*-3x ¥

24. y=3/sen*x

26. y=-/3x- senx

28. y:sen( \/W)
30. y:cos3( x2-3\/§)
32. y:5

w

X
3_
34. y=X

>

36. y=

38. y=

40. y=

42. y=1n(3x-1)
44, y=In+/x-2
46. y=¢*

48. y=¢“*

50. y=tg (x°)

52, y=1/e™

54. y=(x*-1).(x-1)
56. y=¢* . COS X
58. y=¢"> . sen x



Derivadas (pendientes 1°Bach.)

SOLUCIONES Todas las soluciones se dan sin simplificar
1. y=30x" - 15x* + 9x? 2.y=-4x°-6x*+1 3.y'=30x9+—-i2
Ix o x
4.y'=33 . ¥ -1 5. y'=4cos x + 3sen x 6. y’:i-—2+5x4 7. y=15x*
Ix o x
r— T 3 " r— 3 3 2
8. y=-—senx - 9. y'=-3sen(3x) 10. y'=-2cos(x’) . sen(x®) . 3x
2 Jx
11. y'=cos(3x*-2x) . (6x-2) 12. y'=-sen(x*) . 2x 13. y'=3 sen’(2x%) . cos(2x?) . 4x
14. y'=4c0s*(3x*) . (-sen(3x4)) C12y3 15. y'=6 sen(2x-3) . cos(2x-3) . 2
16. y'=5c0s*(3x?) . (-sen(3x?)) . 6x 17. y'=-sen(senx) . cosx
-2COSX . senx
18. y'=2cos(sen3x) . (-sen(sen3x)) . cos3x . 3 19 y=—m——
3 Ycos* x
_ 2 2 - 2_ -
2. y'= 2cos(x°) . sen(x”) . 2x 21, y'= 2X-3 99, y’:2 (x*-3x) (2x-3)
3 3/cos*(x°) 2 \x*-3x 3 3;/(x2-3x )!
1 2 senx cosx 3 cos 3x
23. y'=3( 2 Jx - 3x ( —-3] 24, y =222 20 25 y'=—" 20
( )2 Vx 3 {sen*x 5 {/sen*(3X)
3 - cosx - 2X
26, Y= ——— 27.y'=3 2 _ J1-y2 | .| 6X - ———
y 2 /3x - senx y (3X X )2 [ 2 \J1-x ]
- 2 ERY:
28 y':cos( \/W).—GX > 29, y'=3sen' X cosx + 3(x-1)
2 /3x*-5x 2 \/sen‘?X+(X-1)3
3 1 5
30. y'=-3cos> x2-3\/; . sen x2-3\/; . [ZX-—] 31 y== 32. y=-—
- ) sl o) (2] o= =
3_ 4 2 3_
33, y=2x"3 3. y=2x+ > 35, y=2(X%) . (4x-9)
4 X 3
3
,3(x-1)%.3x - 3(x-1)’ L2 (x%-1) - ¥2.2x 2.3 X -3
36. y'= . 37.y'= . 38. y'= :
(3x) (x*-1) X
I 3
1 - , 3X_Xz\/ﬁ ,_ B6Xx - cosx
9. y=—r=.- 40. y'= 41. y'=
5 3 X 3x 3 3/(3x2- senx )’
X
1
4. y=—3_ 43, =253 44, y'=23X-2 45, y=— 0% _
3x-1 x? - 3X VX-2 3x%.1n2
46. y'=¢* . 2X 47.y'=2% . I1n2 48, y'=<%  (2x-2) 49, y'=3*"  cos x . In3
2 _ .COSX
50.y'=— X 5l y=3¢f% (x-3) 52 y= & S 53. y=2 %
cos” (x°) Nk cos” X
2
54, y=2x (x-1) + (x*-1) 55. y'=2x . Inx + LS 56. y'=¢X 2X €OS X - e Senx

X



Derivadas (pendientes 1°Bach.)

57. y'=4x* . e + x* ¥ . 3 58. y'=¢""* . (4x°-6x) senx + ¢ cos X



